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A OIS

M HAHES Ot BS
Sol: XIAS OtSQ X §4 EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

Al 7,669,197
T 773,938

NS Ate Ots2 ANMe sS4 11,950,766 7,751,172 4,199,594
= 8,212,583
J| 64,215
Al 2,901,010
T 772,958

dAots HE XN (L) 61,200 54,000 7,200
9] 42,840
Al 18,360

301 et d = 61,200 54,000 7,200
J| 42,840
Al 18,360

01 MI2EZE+6l= 61,200 54,000 7,200
ogedots s+ N 61,200
J| 42,840
Al 18,360

QA0ts ItE N (Z0tsS =) 19,336 8,612 10,724
J| 13,535
Al 5,801

301 et a = 19,336 8,612 10,724
J| 13,535
Al 5,801

01 MEIBEE 263 19,336 8,612 10,724
OZlots g s+ N&E 19,336
Jl| 13,535
Al 5,801

QY IHEAEOS ez N&E 1,000 1,000 0
= 700
Al 300

301 LA F 1,000 1,000 0
= 700
Al 300

01 Mel28E 6= 1,000 1,000 0
OgY - IIE=AE0s Aelxlzg N& 1,000
= 700
Al 300

2 =otag N 3,000 3,000 0
Al 3,000

301 et d =S 3,000 3,000 0
Al 3,000

01 MEIEZE+6l= 3,000 3,000 0
Oge=dta XA 3,000
Al 3,000

LYA0ts ItE XA (L=t DX X&) 2,100 2,100 0
J| 1,470
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SN &R

B FHo)E O 25
S KNS Ols2e HANE =4 (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Al 630
301 et A= 2,100 2,100 0
Dl 1,470
Al 630
01 MBI EEAESG2 2,100 2,100 0
Ogsd=4D|2t DA K& 2,100
J| 1,470
Al 630
Qekols JIE X (YAH=) 9,100 5,400 3,700
Dl 6,370
Al 2,730
307 212t0| & 9,100 5,400 3,700
Dl 6,370
Al 2,730
11 A SEXNAEE X 9,100 5,400 3,700
OogdHE XA 9,100
Dl 6,370
Al 2,730
Ho dist= OS24 K& 628,453 628,453 0
Al 471,340
- 157,113
307 Q12t0| ™ 628,453 628,453 0
Al 471,340
- 157,113
11T AISIEXAIEEX 628,453 628,453 0
oY, gstxE ols2a XA 628,453
Al 471,340
- 157,113
E, 5% ots=4aXE 129,030 129,030 0
Al 129,030
307 QI2t01 & 129,030 129,030 0
Al 129,030
11 AMISAAEEXR 129,030 129,030 0
OE,s5Y s34 XA 129,030
Al 129,030
Olsa3Aa/A|L+E 980 980 0
201 Bt A H| 980 980 0
01 At 2t2l ] 980 980 0
OolsZ2a/Ads 3o &g
70,000& x7H %23 980
IIE/AE OIS K& 90,000 90,000 0
Al 90,000
301 et A= 90,000 90,000 0
Al 90,000
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2N

P IlE=n}

B FHo)E O 25
S XASAe ots2 HAE 54 (22 &d)
SA - BB B (EH) - NRAY - BES of & o San HI D2
01 A28 H =62 90,000 90,000 0
ONEEOtSAE 90,000
Al 90,000
A2EAHIE JIERIE ANE0tE HEsSE3 N 42,000 42,000 0
Al 42,000
301 2ELE A= 42,000 42,000 0
Al 42,000
01 AR 2&H =063 42,000 42,000 0
OAEAUINE IHEE ALOIS HAS=2
A& 42,000
Al 42,000
2EAHINE JHERIE AL 0ts HEERZ NE 80,000 55,000 25,000
Al 80,000
301 fEtE A= 80,000 55,000 25,000
Al 80,000
01 AR 2& A =63 80,000 55,000 25,000
OAEAEINE IHEFS ANLE HYHES
A& 80,000
Al 80,000
PoE=0s MESE 97,200 0 97,200
= 77,760
Al 19,440
301 gEtE A= 97,200 0 97,200
= 77,760
Al 19,440
01 Al 2&H =63 97,200 0 97,200
OESEE0s NE=E 97,200
= 77,760
Al 19,440
OtsS 22 X2 A & 209,649 179,418 30,231
= 146,754
Al 62,895
301 LEE A= 209,649 179,418 30,231
= 146,754
Al 62,895
01 M2 X +0l3 209,649 179,418 30,231
OUSMNASEX & 209,649
= 146,754
Al 62,895
Olel0l=0l8H =X Z2=H| 800 0 800
201 £et23E | 800 0 800
01 At 22l bl 800 0 800
ONEol=0le R4 800
ASotsdH 28 X& 870,840 792,600 78,240
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SN &R

HE: HANUS OIS B35
@2 XA ots2 2HE |4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

= 435,420
Al 435,420

307 glz2tol & 870,840 792,600 78,240
= 435,420
Al 435,420

10 ALl SXAIEEE 2 H EX 870,840 792,600 78,240
OXgotsd e 2948 XA 870,840
= 435,420
Al 435,420

S+=8d Nd0otsHdH =X 51,156 29,376 21,780
= 25,578
Al 25,578

307 21201 A 51,156 29,376 21,780
= 25,578
Al 25,578

10 ALSISXAIEEE2GHEX 51,156 29,376 21,780
OS+2x8 1 51,156
= 25,578
Al 25,578

ERIY NIotsdly FIHAE 25,536 5,808 19,728
= 12,768
Al 12,768

307 gl2tol & 25,536 5,808 19,728
= 12,768
Al 12,768

10 AL SXNAIEEE2EH EX 25,536 5,808 19,728
OER2d & 25,536
= 12,768
Al 12,768

L4 XNAOISHE XV 34,698 34,776 AT8
2 17,349
Al 17,349

307 glz2+ol & 34,698 34,776 AT8
= 17,349
Al 17,349

10 ALSISXAIEEE2EHEX 34,698 34,776 AT8
Of=Xd90tsdy X 34,698
= 17,349
Al 17,349

OIS=X DA THAX A 203,108 215,880 A12,772
= 96,604
Al 96,604
- 9,900

101 @124l 203,108 215,880 AN12,772
= 96,604
Al 96,604
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SN &R

M HAHES Ot BS
el XSAE Ots2 ANME sS4 (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
- 9,900
04 JI2ZHH 22X S 203,108 215,880 N12,772
OO0tS S XA o1 HHl K& 193,208
= 96,604
Al 96,604
O0ts=sX AL SXEQE 300,000& x11H 3,300
OOSSXNDA SEHKB
300,000& 11 %23 6,600
NGotsdEH SAHA M IH&HI 73,984 65,400 8,584
Al 55,384
- 18,600
307 g1+l & 73,984 65,400 8,584
Al 55,384
- 18,600
10 M ZXNANEHI2IHE=S 73,984 65,400 8,584
OXZotsdH SAX M<IH&HI 55,384
Al 55,384
OANEZ, dE2XA HH&HI
50,000 *31H 1204 & 18,600
NSGotsdye T3 N3 29,970 21,546 8,424
Al 29,970
307 2I2t0l A 29,970 21,546 8,424
Al 29,970
10 ALSISXAIEEE2EHEX 29,970 21,546 8,424
OXNYOotsHE T2 78d K& 29,970
Al 29,970
HEess XNd0tsdH 29 X 7,800 7,800 0
Al 7,800
307 21201 A 7,800 7,800 0
Al 7,800
10 ALSISXAIEEER2IHEX 7,800 7,800 0
OMEss XNEotsdEH 234l 7,800
Al 7,800
NGotsdy Hiteh 2Fd X3 4,785 4,905 A 120
Al 4,785
307 2Iztol ™ 4,785 4,905 A 120
Al 4,785
10 M SXNANEHEI2IHE=S 4,785 4,905 A 120
OXSotsdye HLte 29H X& 4,785
Al 4,785
ANE0tsdH M= X2 3,136 3,150 A4
Al 3,136
307 2I2t0l A 3,136 3,150 A4
Al 3,136
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SN &R

M HAHES Ot BS
@2 XA ots2 2HE |4 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
10 AL SXNAIEEE2EH EX 3,136 3,150 AN14
OXdotsHeE e X 3,136
Al 3,136
ESEAFIIIE 294 XA 4,617 4,032 585
Al 4,617
201 L2l 4,617 4,032 585
Al 4,617
02 2324l 4,617 4,032 585
Os4&dIItE 294 N& 4,617
Al 4,617
ANSGotsdH &ZdH X 90,000 0 90,000
= 45,000
Al 22,500
- 22,500
307 Qiz2tol & 90,000 0 90,000
= 45,000
Al 22,500
- 22,500
10 ALl SXAIEEE2EH EX 90,000 0 90,000
OXY0ots4dE &FHLdl XA 90,000
= 45,000
Al 22,500
T 22,500
NEotsdE A MU 3,000 2,000 1,000
201 LB-2E| 3,000 2,000 1,000
03 A2 Z Hl 3,000 2,000 1,000
OXSotsdH HE M 3,000
ANAotsdHRAR =S 560 560 0
201 Let2d ] 560 560 0
01 At 22l I 560 560 0
OXYotsdEHdE 3o A& 560
FHANE OlsSSMH A K& 179,000 305,600 A 126,600
= 159,000
- 20,000
201 Let24d] 140,840 145,652 A4,812
= 120,840
- 20,000
AtE 2t el i 129,418 134,950 25,532
OLEEAERE T2 29 96,118
= 96,118
OssXd T8 29 20,000
OEHAEE HH 2¢ 2,000
= 2,000
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AR GRS =

B FHo)E O 25
el XSAE Ots2 ANME sS4 (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

OEEAEE A A N=H| 3,600
= 3,600
OEEAEE2ERAS A3E S 1,300
= 1,300
OLEAEE 22 MHE 6,400
= 6,400

02 =224l 8,422 7,702 720
ORI &H 29| 960
= 960
ORERI, #8IIRa3 & 33R3 5,462
= 5,462
Oxt& R Al 2teldl 1,500
= 1,500
OEYAEE HdH W AERA 500
= 500

03 A2 Z Hl 3,000 3,000 0
OEHAERE 8224 29 S 3,000
= 3,000

202 O4dl 12,840 12,840 0
= 12,840

01 SLHOYI 12,840 12,840 0
OEYAEE ARus EF0H 12,840
= 12,840

203 PR =&l 2,400 2,400 0
= 2,400

03 A Z=XH S =AY 2,400 2,400 0
OEEAERE 2tE3 S ABFAY| 2,400
= 2,400

301 LerE A3 13,920 13,920 0
= 13,920

09 HALAHIEA S 3,000 3,000 0
OEEAERE Z208 HFOHAU AlHl S 3,000
= 3,000

12 JIEtE4 3 10,920 10,920 0
O EYAERE T2 08 2 Al 10,920
= 10,920

307 21201 A 5,500 5,500 0
= 5,500

11 AMSSIAIEE X 5,500 5,500 0
O=gdl|&a 2274 2I X 5,500
= 5,500

402 BI2FX=01 M 1,000 1,000 0
= 1,000

03 BIZHRIEF AL HI 1,000 1,000 0
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A 4=
ZE: FHANE O 25
S XASAe ots2 HAE 54 (22 &d)
5 - 4
SA - - ERA(B) - NTAY - BES 0f o il Hl D52
OEHAEE SHIEEANAY 2= 1,000
= 1,000
405 XtatE S HI 2,500 2,500 0
= 2,500
01 ML ESFHSH 2,500 2,500 0
OANEE HIE ¥ BRE Y S 2,500
= 2,500
ots+=¢ 8,992,301 5,051,246 3,941,055
2 7,193,951
Al 1,258,845
- 539,505
301 et 4= 8,992,301 5,018,882 3,973,419
= 7,193,951
Al 1,258,845
- 539,505
01 AHBIEEZH 0= 8,992,301 5,018,882 3,973,419
oots+y 8,992,301
= 7,193,951
Al 1,258,845
- 539,505
Ots==g AMZE2gHI 2,427 0 2,427
= 1,699
Al 728
201 LBt 2t 2,427 0 2,427
2 1,699
Al 728
01 AtR 2t 2l | 2,427 0 2,427
Olts+& 2 234 2,427
= 1,699
Al 728
OtSSXAE 2EXE 5,360,407 6,366,312 A 1,005,905
= 489,128
J| 102,112
Al 4,768,187
- 980
MHZ0(0tS) 533,333 637,232 103,899
= 480,000
Al 53,333
301 LELE A= 533,333 637,232 A 103,899
= 480,000
Al 53,333
01 M2 H 203 533,333 637,232 A 103,899
OOtSAIE A=A 533,333
= 480,000
Al 53,333
OlSAIE23H & SAL 2l 4,408,026 5,259,853 A 851,827
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L ECEE
Ha: F o
Sl OS = XA

& 2gn (B9 ®R)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2

Al 4,408,026

307 QI2t0| ™ 4,408,026 5,259,853 N 851,827
Al 4,408,026

10 Al SXAIEEE2IHIEX 4,408,026 5,259,853 N 851,827
Olts=EXAIE 230l L SALAI 24| 4,368,026
Al 4,368,026
O0ls2ANESA 29H NS 40,000
Al 40,000

Ots A& AlHIXI& 101,000 115,000 A 14,000
Al 101,000

307 Q12t0| ™ 101,000 115,000 A 14,000
Al 101,000

11T A EXAIEE X 101,000 115,000 A 14,000
OAMHEOS #=80 &H| 5,000
Al 5,000
OYGOotAIE Il M AT 2,000
Al 2,000
OA&E0tES WEH X 32,000
Al 32,000
OA&0ts dtAI=&Hl 6,000
Al 6,000
OAHOts 8= 42,000
Al 42,000
Osts2 Xl 14,000
Al 14,000

RESOls OEE 29 82,335 71,022 11,313
J| 32,934
Al 49,401

307 212t0| & 82,335 71,022 11,313
Dl 32,934
Al 49,401

10 AIRIEXAIEEHAE2IGHIEX 82,335 71,022 11,313
OZ2SHMEIIE(OEE) 29X 82,335
Jl 32,934
Al 49,401

SSMHEIE HAESHH A& 7,140 7,540 A 400
Al 7,140

307 QI2t0| ™ 7,140 7,540 A 400
Al 7,140

10 Al SXAIEEE2IHIEX 7,140 7,540 A 400
SSMHEINE HAA™=HH XA 7,140
Al 7,140

SSMEIIAE SAMI 2XSE 15,000 12,600 2,400
Al 15,000
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L ECEE
Ha: F o
Sl OS = XA

& 2gn (B9 ®R)
SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 15,000 12,600 2,400
Al 15,000
10 AL SXAIEEE2EHEX 15,000 12,600 2,400
SSHEIIE BEAL SN X 15,000
Al 15,000
OtsAld otdzte] - EZMA R 10,965 23,295 A 12,330
Al 10,965
307 glz2+ol & 10,965 23,295 A 12,330
Al 10,965
10 ALSISXAIEEE2EHEX 10,965 23,295 A 12,330
OOtsSAlE otdze|, sZAEl K& 10,965
Al 10,965
stimioiots & e &I, Addl, AFZH 188,588 154,770 33,818
J| 69,178
Al 119,410
307 21201 A 188,588 154,770 33,818
J| 69,178
Al 119,410
10 ALSISXAIEEER2IHEX 188,588 154,770 33,818
Osthuloiotsa e 2L K& 172,945
J| 69,178
Al 103,767
Ostiuloiots & EMI=XY 9,063
Al 9,063
OsfthuloiOlsa e Ad&8s4 AL 6,580
Al 6,580
Ots=EXaodds 29 980 0 980
201 £B-2dH| 980 0 980
01 At 22l 980 0 980
OOlE=XAolAS 519 Hasg
70,0003 +7H #23| 980
FdAHEXs0ts HEXR 13,040 0 13,040
= 9,128
Al 3,912
307 21201 A 13,040 0 13,040
= 9,128
Al 3,912
10 AL SXNAIEEE2EH EX 13,040 0 13,040
OZAHHE Nsots NHEXA 13,040
= 9,128
Al 3,912
dad B5 9 54 250,698 136,890 113,808
= 63,094
Jl 63,742
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A O{EIIS D

Hm: HAW 25 U 84
oelr BAd =X CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 80,952
T 42,910
dAadE =X 250,698 136,890 113,808
= 63,094
J| 63,742
Al 80,952
T 42,910
HdAUES 14,650 14,750 A 100
201 ¢er24| 14,650 14,750 A 100
01 At 22l 14,650 14,750 A 100
OFAEE ¢35 8,750
O T#ads4deisl, sdssdag
70,000& x10Z *13] 700
O TR ELEHEEFXNIAMA2LEE S, 3
OF MG 70,0003 x 159 x23| 2,100
O retu=sis XA, sIdzasg
70,000& »15H 23] 2,100
OstW=EE g 22 HA 1,000
—8=2, U, =228 S
1,000& =1,000H 1,000
FAdRoEZ Z2AE XA 2,800 2,800 0
= 1,400
Al 1,400
307 21201 A 2,800 2,800 0
= 1,400
Al 1,400
02 It S AIHE L 2,800 2,800 0
OFAURMHESZIZAE 2EXA 2,800
= 1,400
Al 1,400
Fad IR 24 14,000 14,000 0
Al 7,000
T 7,000
307 glz2tol & 14,000 14,000 0
Al 7,000
- 7,000
10 ALl SXAIEEE 2 H EX 11,200 11,200 0
OFAEZRY 29 11,200
Al 5,600
- 5,600
11T MISXASEEX 2,800 2,800 0
OFEAEZRY T2 AL 2,800
Al 1,400
T 1,400
HEXH ALXNES 3424 SEXE 9,000 9,000 0
J| 6,300

- 143 -




SN 8IS
XM HAH
e R PNE

SA - FE - BI(EA) - NRAY - By 0l &t San DS
Al 2,700
301 et d =S 8,800 8,824 N24
J| 6,300
Al 2,500
01 MEIBEZE 05z 8,800 8,824 N24
OdEXad, HAXNAS FLHSEXNE 8,800
J| 6,300
Al 2,500
307 glztol & 200 176 24
Al 200
11T MISXASEEX 200 176 24
OdeXa dLNNEs F2ESETE At 2
| 200
Al 200
stn 8 HAad X2AY 82,060 78,000 4,060
J| 57,442
Al 24,618
307 glztol & 82,060 78,000 4,060
J| 57,442
Al 24,618
05 QIRt2IE =2 82,060 78,000 4,060
Osgtw & 44 XA 82,060
J| 57,442
Al 24,618
F2EBAHAZ 2EXE 2,800 2,800 0
Al 1,400
- 1,400
307 gl2tol ™ 2,800 2,800 0
Al 1,400
- 1,400
05 RIZtRIE = 2,800 2,800 0
OFAHENWRARZE 29 2,800
Al 1,400
T 1,400
HAE ALXAAY 71,440 15,540 55,900
= 35,720
Al 17,860
T 17,860
301 et d = 71,440 15,540 55,900
= 35,720
Al 17,860
- 17,860
01 M3IBZE 06z 71,440 15,540 55,900
OFAaY AZXNEAY 71,440
= 35,720
Al 17,860
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SN 8IS
XM HAH
e R PNE

SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
| - 17,860
HAEIIANE 29 2,000 0 2,000
201 gEt24y| 1,000 0 1,000
01 AF 2t 2| H| 1,000 0 1,000
OFAED|XE 22| 1,000
301 LEtE A= 1,000 0 1,000
12 JIEtE A= 1,000 0 1,000
OFALAEIXE 2 ZAIxH 1,000
HAE SISXNFAE 29 XK (o12A4H]) 51,948 0 51,948
= 25,974
Al 25,974
307 QI2t0| & 51,948 0 51,948
= 25,974
Al 25,974
10 Al EXNANEEHE2IGH EX 51,948 0 51,948
OFALAE FEXNRANE 29 XK (20AHHl) 51,948
= 25,974
Al 25,974
HESHAY (A=) 270,385 88,230 182, 155
= 132,467
Al 12,467
- 125,451
ol 2HH| 173,445 0 173,445
= 132,467
Al 12,467
- 28,511
FUHSE OlsSsEAMH A X 142,278 0 142,278
= 120,000
- 22,278
101 e1214| 142,278 0 142,278
2 120,000
- 22,278
03 RIHEZZXHE = 142,278 0 142,278
OO0t A2 22l AF Q1 2HHI(49) 142,278
-J=3 120,000
= 120,000
— HHFAH| 130,000& x 128 x4H 6,240
—HE S|
(1,668,520 32 )+( 1,808,480 »1H ) 6,815
= PN =
(822,990 x39 )+(884,270& x1H) 3,354
- gasIIEE 5,249
—Hststy| K& 2 300
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2AH: HEIL
H

HM: $E2U2A (0AIED)
chel: ol 2y (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
—Cens 2 =X A=0s 182
80,000& x4H 320
Ots=XIWAH ItA 31,167 0 31,167
= 12,467
Al 12,467
- 6,233
101 1A Hl 31,167 0 31,167
= 12,467
Al 12,467
- 6,233
03 RIHAZ 2N E =+ 31,167 0 31,167
OOtS=SXI A (KD ASSIIA 18) I 24H| 25,028
= 12,467
Al 12,467
2 94
O A A 130,000& =128 1,560
Oi=s=¢ 60,000& x12& 720
O Z =l 2,085,660& *80% 1,669
Oduan= 1,645,990& x50% 823
OgirssIi=¢ 10,7232 *8Al 2tx 15 1,287
odethal & =X M=sUs N2
80,000& x1H 80
Jl23dl 96,940 88,230 8,710
JlE2&l 96,940 88,230 8,710
201 Let2d] 18,220 17,430 790
01 At 22l 18,220 17,430 790
OSAMEXN 2L 21,0003 70 A 1,470
OEHTY 3,550
== 115,000& *2CH *53] 1,150
-2 (ZEH) 150,000 & *2[H x4 48 23| 2,400
EMEEIE2+=8H| 10,000& »22H «12& 2,640
OAZAZ2X SAHl 8,000 541 «22H 128 10,560
202 Oddl 73,920 67,200 6,720
01 = LH 4 bl 73,920 67,200 6,720
O2tLH o HI 280,000& 22K x12& 73,920
203 YR =&t 4,800 3,600 1,200
04 NI 4,800 3,600 1,200
ORNE2Y R4 4,800
—30210loH(=2 & 5HIEs) 400,0009 x12€ 4,800
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